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B. pH = -log [H3O+] = -log [H+]!
pH = -log [3.5 × 10–6] !

	



An environmental chemist obtains a sample of rainwater near a large 
industrial city.  The [H+] was determined to be 3.5 × 10–6 M.  What is 
the pH, pOH, and [OH–] of the solution?	


	


	



-log(3.5E-6!
!

Keystrokes!
1)  (-)!
2)  LOG!
3)  3.5!
4)  2nd!
5)  EE!
6)  (-)!
7)  6!
!
!

ANSWER	


B. pH = -log [H3O+] = -log [H+]!
pH = -log [3.5 × 10–6]  = 5.46 !

!
	



The [H+] was determined to be 3.5 × 10–6!

-log(3.5E-6!
!

5.455931956!

Keystrokes!
1)  (-)!
2)  LOG!
3)  3.5!
4)  2nd!
5)  EE (x-1)!
6)  (-)!
7)  6!
8)  =  ENTER!
!

ANSWER	



10^(-8.54!
!

0.000000003!

Keystrokes!
1)  2nd!
2)  10 x (LOG)!
3)  (-)!
4)  8.54!
5)  = ENTER!
!

pOH = 14.00 – 5.46 = 8.54 	


[OH–] = ?  !

pH = -log [3.5 × 10–6] = 5.46 !
!

	



[OH–] = 3 × 10–9 M!


